S Diamatic

The choice of professionals

Diamatic 780PRO

Service manual
Version 1.3

Service manual

Diamatic
Utrechthaven 12
NL - 3433 PN NIEUWEGEIN
Tel: 0031 (0)30 223 8630
Fax: 0031 (0)30 223 8981

www.diamatic.eu info@diamatic.eu



S Diamatic

The choice of professionals

Table of contents

1. Tools

2. Spare parts

3. Electric schedules
E06867 / 3x 400V / 15kW / Frequency drive
E06867/UL230 / 3x 230V / 15kW / Frequency drive
E06867/UL480 / 3x 480V / 15kW / Frequency drive

4. Fault diagnose frequency drive

03

04

24
33
42

51

2/55




S Diamatic

The choice of professionals

Item

Part number

1. Tools
Diamag grinding wings

Description

RENESES

BG707301 Diamag wing red box 9 pieces 18/20 1
BG707302 Diamag wing red box 9 pieces 30/40 1
BG707303 Diamag wing red box 9 pieces 60/80 1
BG707304 Diamag wing red box 9 pieces 120/150 1
BG707311 Diamag wing green box 9 pieces 18/20 1
BG707312 Diamag wing green box 9 pieces 30/40 1
BG707313 Diamag wing green box 9 pieces 60/80 1
BG707314 Diamag wing green box 9 pieces 120/150 1
BG707321 Diamag wing blue box 9 pieces 18/20 1
BG707322 Diamag wing blue box 9 pieces 30/40 1
BG200995/SET | WingPCD 1x 1 (set of 9) 1
BG200997/SET | Wing PCD split (set of 9) 1
Diamag polishing dots
Iltem Part number Description Remarks Qty.
BG7100100 Diamag dry polishing dot black #100 (set of 9) 1
BG7100200 Diamag dry polishing dot blue #200 (set of 9) 1
BG7100400 Diamag dry polishing dot red #400 (set of 9) 1
BG7100800 Diamag dry polishing dot white #800 (set of 9) 1
BG7101800 Diamag dry polishing dot yellow #1800 (set of 9) 1
BG7103000 Diamag dry polishing dot green #3000 (set of 9) 1
BG707303 Diamag wing red box 9 pieces 60/80 1
BG707304 Diamag wing red box 9 pieces 120/150 1
BG7110050 Diamag wet polishing dot orange #50 (set of 9) 1
BG7110100 Diamag wet polishing dot black #100 (set of 9) 1
BG7110200 Diamag wet polishing dot blue #200 (set of 9) 1
BG7110400 Diamag wet polishing dot red #400 (set of 9) 1
BG7110800 Diamag wet polishing dot white #800 (set of 9) 1
BG7111800 Diamag wet polishing dot yellow #1800 (set of 9) 1
BG7113000 Diamag wet polishing dot green #3000 (set of 9) 1

3/55




S Diamatic

The choice of professionals

2. Spare parts
Frame complete

4/55



S Diamatic

The choice of professionals

Item ‘ Part number ‘ Description Remarks Qty.
1 BE0643 Tube cap round 2
2 E07032/RD Handle for steer long 1
3 999-9156 Pipe clamp (set) 2
4 BE0191 M6x50 hexagon socket head bolt DIN 912 4
5 E07882 Operating box complete 1

E01543 Emergency stop

E01318 Start button

E01351/1 Potentio meter (speed switch)

E01323 Left / right switch

E05130 Make contact (green)

E05131 Brake contact (red)
6 BE0641 M10 clamp lever 1
7 BG005835 Steer handle 1
8 BE0640 M12 hexagon shoulder screw 1
9 BG11751-1 Handle locking pin 1
10 E06860 Clamping pin steer 1
11 BG11758 Cord for deadman switch 1
12 BG11759 Key for deadman switch 1
13 BG11760 Deadman switch 1
14 E07008 Chain (11links) 1
15 BE0653 Hook 2
16 E06883 Swing arm for dusthose 1
17 478198 Quick release pin 1
18 BG005338 Cover plate electro box 1
19 BG11917 Electrobox 15kW complete 1

BG11917/UL230 Electrobox 15kW complete 230UL 1

BG11917/UL480 Electrobox 15kW complete 480UL 1

| 20 E05135 Electrical inlet 3x400V 32A 1

E05134 Electrical inlet 3x230V 63A 1

E05132 Electrical inlet 3x480V 63A 1
21 BE0037 M12x30 hexagon head bolt 2
22 BG11850-1/1 Wheel spacers 4
23 BG11850-1 Wheel 2
24 E06915 Wheel axle left 1

E06916 Wheel axle right 1
25 E07035 Frame 1
26 E06286 Water coupling 1
27 E06285 Waterhose connection 1
28 E06282 Ball valve mini 1
29 E06279 Water reducing coupling 1
30 E01492 Megi bush 2
31 BG11752 Hinge bolt 2

E06893 RD 780PRO logo red 2

E06820 Diamatic logo 4

5/55




S Diamatic

The choice of professionals

Machine complete

6/55



S Diamatic

The choice of professionals

Part number

Description

REINEISS

Qty.

35 BG005847 Protection cap 1
36 BG11924 Upper belt 1
37 BG11899-1/RD Motor 230V/480V 1
38 BEO654 M8x16 set screw DIN 916 4
39 BG007808 2 Coupling upper part 1
40 BE0656 M14x140 hexagon socket head bolt DIN 912 3
41 BG007810 Flange motor seat 1
42 BG007811 Motor seat 1
43 BG005844 Coupling plastic star 1
44 BG11829 V-seal 1
45 BE0635 M8x110 hexagon socket head bolt DIN 912 6
46 BG007808 1 Coupling under part 1
47 BE0188 M6x25 hexagon socket head bolt DIN 912 1
48 BG007839-2 Protection cover 1
49 BE0655 M6x12 hexagon shoulder screw 4
50 E06281 Water T-coupling 1
51 E06278 Waterhose 2,0m
52 E06276 Pipe clamp 2
53 E06897 Slide strip 3,0m
54 E06293 Nut for knee coupling 2
55 E06280 Water knee coupling 2
56 E04551 Plastic cap 1
57 BG007849 Brush for floating shroud 1
58 BG007855 Floating shroud 1
59

7/55




S Diamatic

The choice of professionals

Upper drive

8/55



S Diamatic

The choice of professionals

Part number Description Remarks

60 BE0631 M8x40 hexagon socket head bolt DIN 7984 4
61 BG007866 Contra pulley 1
62 BG007809-1 Motorplate compl 1
63 BE0443 M10x25 hexagon socket head bolt 1
64 BG005860 Upper tensioner 1
65 BG005813 Holder 2
66 BG007838 Motor housing 1
67 BG007867 Centre pulley 1
68 BG11980 Middle belt 1
69 BG005834 Lower plate upper drive 1
70 BG005807 Ring 1
71 BG007804 Flange 1
72 BE0350 M6x10 hexagon head screw 8
73

74

9/55




S Diamatic

The choice of professionals

Lower drive

10/55



S Diamatic

The choice of professionals

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
75 BE0617 M6x50 countersunk screw DIN 7991 2
76 BG11849 V-seal 1
77 BG007814 Ring 1
78 BG007827 Cover 4
79 BE0198 M12x30 hexagon socket head bolt DIN 912 5
80 BEO0189 M6x30 hexagon head bolt DIN 933 15
81 BE0502 M6x25 countersunk screw DIN 7991 6
82 BEO030 M8x25 hexagon head bolt DIN 933 2
83 BG007822-1 Housing complete 1
84 BG007832 Tensioner plate 1
85 BEO0122 M14x75 hexagon head bolt DIN 933 2
86 BG007868 Drive pulley 1
87 BG007869 Pulley 3
88 BG11866 Lower belt 1
89 BG007865 Lower tensioner 1
90 BG007824 Lower plate 1
91 BG007850 Inspection cover 2
92 BE0082 M8x12 hexagon socket head bolt DIN 912 6
93 BE0035 M6x16 hexagon socket head bolt DIN 912 18
94 BG0007826 Ring 4
95 BEO0189 M6x30 hexagon head bolt DIN 933 20
96 BE0502 M6x25 countersunk screw DIN 7991 4
97 BG11797 V-seal 3
98

11/55




S Diamatic

The choice of professionals

Contra pulley BGOO7866

\)

&

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
99 BG005803 Belt pulley 1
100 BE0109 Key 8x7x20 DIN 6885A 1
101 BEOO76 Retaining ring for shaft @25 DIN 471 1
102 BG005802 Bearing house 1
103 BEOO77 Retaining ring for bore @52 DIN 472 4
104 222-2331-E Bearing 2
105 BG007801 Axle 1
106 BE0657 Key 8x7x50 DIN 6885A 1
107 BG007805 Pulley 1

12/55




S Diamatic

The choice of professionals

Centre pulley BGOO7867

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
108 BG007812 Sprocket 1
109 E03703 V-seal 1
110 BG007806-1 Pulley 1
111 E01490 Bearing 1
112 E03993 Retaining ring for bore @90 DIN 472 1
113 BE0126 Retaining ring for shaft @50 DIN 471 1

13/55




S Diamatic

The choice of professionals

Drive pulley BGOO7868

g

AF

G~ 120

14/55



S Diamatic

The choice of professionals

ltem Part number Description REINEE

114 BE0107 Retaining ring for bore @80 DIN 472 2
115 BG11933 Bearing 1
116 BG007815 Bearing house 1
117 BE0256 Key 8x7x30 DIN 6885A 1
118 BG007818 Axle 1
119 BE0658 Key 12x8x35 DIN 6885A 1
120 BG11867 Pulley 1
121 BG11868 Taperlock 1
122 BG007817 Bearing house 1
123 BG11871 Bearing 1
124 BE0607 Retaining ring for shaft @40 DIN 471 4
125

126

15/55




of professionals

choice

S Diamatic

The

Pulley (3x) BGO0O7869

16/55



S Diamatic

The choice of professionals

ltem Part number Description REINEE

127 BG11887 Bearing 1
128 BG007819 Bearing house 1
129 BE0607 Retaining ring for shaft @40 DIN 471 4
130 BG11889 Taperlock

131 BG11888 Pulley

132 BG007817 Bearing house

133 BG11871 Bearing

134 BG007816 Axle

135 BE0659 Key 12x8x45 DIN 6885A 1

17/55



S Diamatic

The choice of professionals

Upper tensioner BGO0O5860

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
136 BE0QO74 Retaining ring for shaft @20 DIN 471 1
137 222-2245 Bearing 2
138 BG005830 Axle for tensioner 1
139 BG005831 Tension plate 1
140 BE0130 M10x25 countersunk screw DIN 7991 1
141

142

18/55




S Diamatic

The choice of professionals

Part number

Lower tensioner BGO0O7865

Description

RENESS

143 BE0074 Retaining ring for shaft @20 DIN 471 2
144 BG11884 Bearing 2
145 BG007836 Pulley 1
146 BG007837 Axle tensioner 1
147 BE0458 M8x25 countersunk screw DIN 7991 2
148 BG007833-1 Tensioner 1
149

19/55




S Diamatic

The choice of professionals

Buffer plate for surface preparation (3x)

20/55



S Diamatic

The choice of professionals

Part number Description Remarks
123 BG240190-1 240mm diamond holder complete 1
128 BG2401901-1 240mm diamond holder 1
150 BG11880 Fork 1
151 M8x25 hexagon socket head bolt small | DIN 7984
BE0204 + BEOS84 + M8 spring washer small DIN 7980 3
152 BG11879 Buffer disc 1
153 BG11878 Buffer hard 4
154 BE0082 M8x12 hexagon socket head bolt DIN 912 8
155 BG11877 Magnet plate holder 240mm 1
156 BG11876-1 Magnet plate 240mm 1
157 BE0456 M8x16 countersunk screw DIN 7991 3
158 BG11811 Centering star 3
159 BG11810 M6x10 countersunk screw DIN 7991 6
160 E06446 Magnet 3
161 BE0608 Retaining ring for bore @58 DIN 472 1
162 BE0030 M8x25 hexagon head bolt DIN 933 1
163 BE0314 M8x30x1,5 washer 2
164- .
169 BG300117 240mm cutter housing complete 1
164 BG300501-1 185mm cutter housing 1
é25+1 BG300133 Locking pin & screw 6
167 BG300130 Axle 3
168 BG300109 Cutter 12
169 MPL48 Washer 15
| 170 EQ07240 DIAMAG 240mm adapter plate 1
BG200993-1 Plate for wings 240mm 1
BG200988-1 Dry polish dot holder 240mm 1
171 DIAMAG grinding wings 3
172 E06447 DIAMAG adapter plate for dots 3
173 Dry polish dots 3

21/55




S Diamatic

The choice of professionals

Buffer plate for polishing (3x)

22/55



S Diamatic

The choice of professionals

Part number

Description

REIMEIES

175 BE0579 7/16 x 2"/ hexagon UNC bolt 4
176 BG2402001 Flexplate adapter for axle 1
177 BE0012 M8x25 hexagon socket head bolt DIN 912 3
178 BG400310 Morflex coupling 1
179- .
182 BG2402002-1 Flexplate diamond holder 1
179 BG24020021-1 Flexplate diamond holder only 1
180 E06446 Magnet 3
181 BG11811 Centering star 3
182 BG11810 M6x10 countersunk screw 6
183 BE0456 M8x16 countersunk screw DIN 7991 3
184 E07240 DIAMAG 240mm adapter plate 1
BG200993-1 Plate for wings 240mm 1
BG200988-1 Dry polish dot holder 240mm 1
185 DIAMAG grinding wings 3
186 E06447 DIAMAG adapter plate for dots 3
187 Dry polish dots 3

23/55




S Diamatic

[
>

The choice of professional

3. Electric schedules
E06867 / 3x 400V / 15kW / frequency drive

Ieaj -
Jaguinu sAlyaUY - |4
Iaqunu uoisiASy - 1_
BHEHHER HH
H39INNN ONIMYEA

Jaquinu Buuuny - |_

TT 11
3d00 34¥00

abed ajnpayas -

iap2| [oquds -
Jaquinu Bujuuny - |_

IT411
4d0D TOdWAS

SPYM -
SIUM -
SUYM -

us219/MOo||2A -
Joe|g -
joe|g -
oe|g -
SIo[0D

(DaAFZ) punols / snuip
aJm dn-yooH

(2aArz) snid

abeyjop [onuod)

3d / yyes

A00t 26e3j0A Ul

dO100 JHIM

24/55



S Diamatic

[
>

The choice of professiona

sanpLyfseb

Bunye 13w way Sl

Wl

pueisissm aisqpsbas

dafx =puaipeq YRsUREE

speEyEyRssEUSyEAS 00

Brod-£ 32=Wwoneane| ISy

Baod-7 JeRWwoneane| RIS

Sq0d-1 eewmNERpE|RsY

IEEpEELsR0ny

B

JEpIEYE EgE Ry

pauberEus

IBUnIsY

S5M) YUM [BUILLIS]L

[ETET

10BIU0D B|QEACL LIM JO3SISEY

anep

WSIUBLISW YIUMS LM
UJUMS PROJIZAC J010W
Jenjealq N Jamod

sjod-aa1y} IS UNHD

ajod-omy “IayERIG IO

ajod-a|buls “Jayealg UMD

YIUMS UIEl

alod-aaiu1 ‘Pauu0dsIp pasnd

ajod-a3.u3 ‘Yoms pasng

asny kiayes

- -o=0-

SOHPLLLBISUR U005

SOOPREUCIpUEM

BuwnEsoza
puFISiZaM

BuagEA L

gnd pods
BuSeaianEne
s

Bw

Sujfie nEaumido

38U [rdg

pods

IsiEwgysuEn

Ja|jzaEan

impwaEdwe

oo

dweygesubis

JBULITJSURL JUBLIND

105

Buneay / lojsisay

6y agny

2 asnd Aejas
Ji02 asind JojEjued

Agap jno-doup uim
‘1103 AejaafioaEIuoD

Aejap dn-yoid yam
‘lo3 ARjal/1013EIUOD

1102 Aejaus

16D 1013EU0T

Jaliosuely

J3juno
InoyBuiuuns

JaEwrwde

wioy

uby |eubis

P

IEEEyEpEpUR

JeEERYIEyIp

semisabAy
ye=ysowap

sneblun sieqieeip
Buw dmspool

sEEEyEysERp

seepeypsesp dn

L
hunyp

et

e
ety

uzco pieeniza
“DEILOTERIGIE

puzyins peeeniza
“pejuoTER

yst0 prREs
“pejuoTyERw

Peoasusounsa

R0y

Yayms Ajwxoid

ya3ms ]

YIMs aunssald

U2UMS JIEISOULIBY L

yaopun Aejo
dojs Asusblisws

Buppol
youms Alejoy

punoga.
youms Aleyoy

Bunypoy
uopoqysngd

punogas
uopoqysnd

Aejep AW LM sasopR
‘2B JN

Aejap awn yum suado
“1pEU02 DN

AfBp awy yim sasop
“PEUeD ON

Aejap awn yim suado
“JE3U00 ON

1DEIUOT JBMOJ

e Aelixne

25/55



S Diamatic

[
>

The choice of professional

TnoT

mnit

TAOT

a1e|d Bununoly

UORINPEY (9T W< =0T
+ vd/9Th

Wd/9TI mwﬂ

et
ZSNTT

_M Hels 1521

O @op

TSNTT

[]
wd{0zZW

'dS Vg
o333

[+
a o

k3
SSEIR/SZk

W3
SseIg/ST

ARy

Aeydsig

SSEIE/0TIN

26/55



The choice of professionals

S Diamatic

HILIMS
NYWAav3a

ysng pus sdip

3L0W3Y

Usng pua alim

==———

JAd WTxXE e——_—— 71—+~

5] |

0Lz

-

591

13NIEYD
Usnq pus s

wwgos = 3ybua| 230

JLOW3Y

usnq pus A

S

mnn_.l_—.i WG/ 0XgT

00T

0G4

(Mo fusam) =34
puz|B 2jged DI Y3 Ul

[RQDRUL0D 3q 1 S PUR PRI = &

S MD|RA

Bey 2y Mmu 343
= m._mvm € (¢

TA = Qum_m.ﬁ 4
= {umeig) 1 (g

WwosTT = ybus) |zl

{wiwpT 18 Bumna Ajuo) pjeys 1a10id 01

3piS UONI3ULOT JOJOW UO UORRINSUI 3AB3| AJBAIISP 104

E

G MOIEA

Bey 2jqe0 3oy

puaba
13INIGVD

\ [AYISAZ WWOXE

SET

/

/

E]
HOLOW

05T

056

L]

WWOZT = Wous| [e10]

27/55



wdi 09%T

IPART ZHOS WS'6Z ADOY ZHOS WZE ADOP
abeyon j0Quod AVST J030K Addns samod
‘wds ggst
¥S'BT=U]
ZHOS/AGOF == - - == ===
~ey he ! | iz
o1t o1t —[ . TWOT [
Jam0  DaAbE w T L e

EL| I A nl k=== |

A

3d L 1 1L

9 oz
<I|=<I|=I 1
Y71
€ Fal n
- - X o g 8 g
s| v el g
)
g RNy

paflis R}

The choice of professional

28/55

S Diamatic




[
>

The choice of professiona

S Diamatic

dons Auabiswg

»IJAD /=0T

0T/ JAND-

w TTISOV-5dX
g |1t

0z EMdALY--

07T/ +ALY-

A 1o TX

201X
4 dois-43
=B ISNTT

L

dos-z
z pios 15

FOEsNTT

wOAAFT /01

0Tt [ JANFT-4

29/55




S Diamatic

[
>

The choice of professiona

2aAPT

Buuuni
aALIQ

paads
0300

10301

MID
10301

»IaAD/ETT

THZT apisyes

(4954
TT/ex

MYy
TWET

OT/TX

v
TLALY
b
3d 20 MT+ d 01+ +1IF -1V WO m oot
nw Ju [+ Q [=} nw =] nw o noT
k4 g 0Ip IX BQTX
* &Pl I Wby
] Tzt e 1STT
f
o £
Lo TX

- UMAALY Je1T

ALY/ 8TT

wANT /611

30/55



S Diamatic

The choice of professionals

£71 01+ not ' zr o THzr =
£71 +IIY not ' 11 B T§zr =
[ -1I¥ not ' 01 T THEr pa=ds ey
T n Tnot ' & 53 151 M3 1030
171 m not ' 3 +1 1511 =
171 ¥1 ntr ' ’ £1 1571 PA3D 4030
(&1 i T ' 9 +1 1511 =
[ T T ' 5 £1 1511 LFi 1010y
11 nTr ' B 53 1SNTT =
11 TWZTIAOE ' B £ TSNIT =
110 ntr ' z 1 15NIT =
T oTHART ENOTIADE ' T T TSNIT dogs Aauabisug
ST1 3d ot ' 3d pesds 100
uwnjoa [ abed uoneubisap 39biel uoneubisap jebuel a1 uonauny

&8 5 | ® |8 8

&5z & £ |BE =

[ ) E do @

=1 g 5 | g|c8 3

8 ]

2 IPAPT S|eullIz L g

g g

W @

: IX g

o] -4

o o

diis

weJlbelp [eulwia |

31/55



S Diamatic

The choice of professionals

000028031 1 WL/dvZ QI3 £7 N0z == pe3 T
0000758051 57 N0Z AEM UWIWE'T [PUILIES S0 T T
0000+58051 J5' 347 QI3M CILIE'Z [BUIlE 34 2IM T T
0000000r56 SE M3Z QI3 1=eig pu3 z

"YEGPY 355 Z19T0ST puend sebuy uey T
"R M 35 SEE-TET ] T
DOAFZ ZE,08,08 Ny $1£8 Nvd T
T16QY S6Z T160Y 582 1

¥EZ 07 185smeUang PAZ 0T simalLag ! T
I NSz G TeX ON R T

1T NSZ 12T a2 T DN WL T

Tav saz 0¥ 567 ] T

I NEZ I AT TeX ON R T
ZET0TO'B0 EEEVY 582 L LHV15, N3THS Uenngsnd T

I N3Z T2 W32 X DN MR 4

vbESY SBZ +rBEY 582 dus fousbisug T

TTZ50K + TELvd-50X TTZ-50K = 264V 50X = s faaes T
TZIE0Y-5dX TZTE0%-5dX e doys AausBioug T
0E0FZSAUTTAY 0£05Z50UTT8Y WE AZ00% Aiddns Ewag T
S0LEZAD 904 249 W51 1SPRIq NP SBwiagsUel 1
BHSTOHTZALY NETQHTZALY 34q paads sjgeLeA Ts J2Any T
0E5259 Y3 DESZED 43 3205 33AN ||7M 3(PLL WI03-330) WTE T

00 T $00 19K SUORNG %4 T04/SE04TYY 2rE0pu3 T

WdSTWOTW 51,91 =-0ZW ¥d YOmINp=Y S'T,3TH <- 02k Uomnpay 1

SE0£Vd 51208 3T IOLTELEVM, 57, 5Th 307 T
SE0£Vd 51505 514 ¥d TALHVM 5'T,3Th PURIS 352D [4
SE0£Yd 07205 024 Y3I0WTALEVM 57,001 Inwpe] [
SE0{¥d 07905 1,02 ¥d TALUVM 5'1,00 PUF|g 315°0 T
WOZT'0E 02 30LTELEVM, PEEIE-EHAN 577,02 3mepe] T

TW 07508 5'T,020W-1 TALHYM PEE(G-EPIN 57,071 PURID 219D T

WIETDS ZEW YI0WTALEVM PREEIE-EHAN 5T, Z0W e T

T ZES0E T, 26T TELHVM PSP 6T, TEW PURIE 3195 1
Z00Z160/NN - 200K GZ00ZTE0MNNS - Z00+8 05SXOSE Z:ed DURUNOW WM DOEXDOSHO0Y 2:M50pu3 1

Jaquunu ued

Jaquinu adAl

uoneubisap Apuenyy Bey aa1nap

11| SHed

32/55



S Diamatic

[
>

The choice of professional

E06867/UL230 / 3x 230V / 15kW / frequency drive

1eap -
Jaquinu ARy -

Jagquinu uoisiARy - |_

i #H## ##(d
438NN SNIMYHEd

Jaqunu Buuuny - |_
IT1T

4d00 3400

abed ajnpayos -
1ap3| [oquifs -

Jaquinu Bujuumy - J

IT411
3d00 TTOdWAS

UM - (2aApZ) punois / snuliy
SHUM - 2.m dn-jooH

UM - (2an¥z) snid

abejjoA |0u0D

U2ID/MOJI2A - 3d / yHe3
yoeig - €1
Joelg - 1
spoelg - 1
10|00 Sseyd

A0£Z 3bejjoA Uil

DMV BULIM IV YOTOD THIM

33/55



S Diamatic

[
>

The choice of professional

EupL[EE

Buvensz 15w wapEl

wiEp

pueisizam aizq[EEa

dapf =puspRq psER

JpeERyasSBUISyRASq 030

Bg0d-¢ eRwmneane| e

Byod-7 JeRwmneane s

Baed-1 eEwamneene|Fsu

iEREELISRyO0y

JAE0dep, Japiys

JEpEYIS BEERYS

Jayniey

asny YUM [eUlLLRL

US|

10EIU0D 3|QEAOL LM J0ISISEY

anEn,

WISILBYISL YOJMS LIM
U2UMS PEOJISAO I0I0W
JEYEa1q NI JaMod

ajod-sa1U) IS3ESI TN

3jod-oM) “IEESIG LN

ajod-s|buss “i=yesig unuD

IMS Ulely

ajod-s2i1) “PauUoISIp pasng

ajod-a2u) Yaums pasnyg

asny ages

<&

@

JEPLUDEURRLICOS

SODPIEILLIPUEM

[

snd frods

BuiSeianeae

Buw

SuBeEwoEe

3ol fpodg

jeods

I uLeysEEn

B|EWRn

JEwmRdwe

woay

duegesuls

JBULIoSUEL JUSLIND

1@¥pos

Bunesy / Joisisay

by agny

‘1102 asind Aejas

102 &s|nd 101oE1U0T

Aefap Jno-doap umm
‘1103 Aejau/1010E3U0D

Aepap dn-yoid ym
‘103 Aejas/1010BIUOD

[102 Aejas

1103 1012E3UOT

JaIojsuen}

J2unod
Jnoybuiuuny

Japwrwde

wioy

EejaeassEuLEpEL

JERE R EpUE

JEEE PSP

emsaubiy
-

aneBlun siegierip
¥ doyspoat

sEeEEyEsERIp

reeEyeypsIEep do

pusmabniz
dougynip

puzuns pheeniza
RO ERIGIE

uzdo pheEmIzA
DELDMERIgIE

pusynys phiremisa
“pejuanyEew

wsdo pheeisn
“weluomyeR

ejuedsuabowza

FeLTE T

youms Aiuixeld

Yams i

YIIMS 3InSsald

U20IMS J[JEISOLLIBLYL

Waojun Aleyod
doys Ausbuaws

Bupyagl
oms Alejoy

punogai
youms Aleoy

Bunjo|
uapoqusng

punogai
uopoqysnd

Aejap awn ypm saso|3
"pEIU0D DN

Aeap swn yum suado
"12EU03 DN

Aejap Swn yum ses0[2
“12E3U0I ON

Aepp awn yum suado
‘J2EUC2 ON

1IEIUOD JBMOJ

Toejuod Aleljixne

34/55



S Diamatic

[
>

The choice of professional

Tnot

10071

ntr

TAOT

a1e|d Buunoyy

ol E|
SSRIA/TEW

k3
SSRIEfZEW

'dS VE9
wiop33) | X0

ADET Q
sy [{© O
wWioFI W0 O

UOIINDaY /9T < =0T
+ Vdf9Th

Bpno TO0T

-1y

1
Wd/aTi 7521

TdZT
ZSNTT

_M ves 1521

TSNTT

vdfozn

JeAl|y
Agjdsig

ss218/0ZW L

35/55



S Diamatic

The choice of professionals

HOLIMS
NYIWav3a

sa|nisey 2

310W3d

EUIETEN

==——

o e

=————=-=

S9 |

0Lg

J—

S9T

13NIBYD

wwpos = wbus| [goL

JLOW3H

SaJRLLIS) AU

ad1-ind g 0xaT

00z [3 T 00T
wwpsTT = 3ybusy [e30L
(mojjapjusais) = 34
pue|b 21923 I3 3y ul
Pa138UL0D 3 O S| PUE ‘PIBIYIS = ¢
¢y Ge1 ajqed 43
= W D) £
I uﬂ [e1g) T
1N = (umoig) T P
34 PuE £ °Z 'T "ou
9l bey 3iqe0 243 By a|ges uo deim-yuLys
:puaban {wwoot 38 bumno Auo) pisiys 1oe10id o3 d
) 3pIS UOIIPUUCD J0J0W US UDRENSU| aAes| ARAlRp 104 @ A
: o & / ? ® (MoleA/us219) 34
z > A £ M = (A819) €
7 T A= (g
[-ADTISAZ wWWOTXE () 1N = (umosg
O S Bey 3jges aA3
13NIEYD \ \\ = :puaba
3d pue g ‘z ‘T "ou et HOLOW
Bey ajqes uo desm-yuuys
0st 056 001

wwgozT = yBus) g0l

36/55



S Diamatic

[
>

The choice of professional

PAFE
abeyjoa jonuoy

o1t o'1r
20A0 DOAFRT

W85=UL
ZHO9 JEADEEXE

ZHO9 JEAQEEXE
wiog-333 Addns

MAST J0J0W
|— ~€
Il
3d M Al ni
L .
_| L IS I -
I
I
|
|
_g EMN
(R an
|
[ DU N D >
g
3d 3d
[+ I [}
EL] £l L a8
2] Fa) ja)
[=] k=] =]
i

MM e T T e ves
ZX01
TWoT
oA A A o Jves
X0t
PO,
WD A
al
3d
TLALY
N | ¢ 2
ApEZEE T <1 <1}
ST 1
Tt
N0t — %= N oo
5 E 1
-
-

37/55



S Diamatic

[
>

The choice of professiona

e IAAD | #0T
™

wOAART /0T

028/ JAND T
1
i €1 iy 4 il v TTESOV-SaK
=] o [+ [+ Q Q nit
30 TX # 7o IX
¥ vEg 2] zn dors-j3
N--3TSTT f-—@f =D ISNTT
3 1zl 1] .
SOTX dogs-i3
¥ z PGz 35
YO p-OTsnIT
£ 1
071 HMd ALY o)
1
078 ALY T TA e TX
i
0°ZE JONF T pi i
1 s

38/55



S Diamatic

[
>

The choice of professiona

els )

2aAFT

ey
Buijooa

*JJA0 /&1

e
™

THeT apisydeg

ZTX 01/1X
TH/EX

AT
TWET

i
I

—oi!

hi

HMd :%ul +II¥ IV WD

kil

TLALY
eny

7 T |not

L]

T

] Taet

b 1 whnryE
‘m_ |||||||| T ISTT
£

L0 TX

- dMAALY f51T

i
™

i) +ALY /61T
e

T WINPT {611

Ge
™

™

39/55



The choice of professionals

S Diamatic

£71 not ' T T THIT

£71 ot ' I3 B THzT

[ Tnot ' [ 1 T

[ Tnot ' [ [

11 not ' 3 T 1571

171 noTINTE ' £ €1 1571

(AL T Nt ' 9 T 1511

(31 T nte ' 5 €1 1511

[21 o nte ‘ v T TINTT

11 T340 TWZT{TADE ' £ 3 TSNTT

T v T ' z it TSNIT

[21 VAR TWITTAOE ' T T TSNTT

uwnjoz / abed uoneubissp 18biel uoneubisap 1ebue a1 uonouny

&5 = | 8 |8 g
= m £ 3 m m = =z
2 st 5 | 5 |e8 2
8|3 =135 3
@ J S|eullLI2 @
£ PAPZ S[RUILLISL g
B g
=t} @£
5 X g
= =
o o

dias

wedlbelp [euiws]

40/55



S Diamatic

The choice of professionals

¥ 0EZ] P0E7194 puent s5uy ueq T TWZT

N FIE D0AYT BE,6TT,6TT Nvd PAFT B T TWIT

T160¥ S8Z T15QY 582 EELIog T THIT

VEZ W01 sEEUsog ¥a7 w01 Esimenog H0T BS-L T THIT
T NEE TITT1 02 T ON WBLwa[E T 1571
TNz I NEZ Tek ON s T 1521

0¥ 582 0y 587 =puey g T 1521
HARIEH TITT1 ML W ON B T I5TT
LETOTO'E0 £EEWY 587 L LHVLS, NITYD ueungysng T 1511
TNz I NEZ Tek ON WRwae z TSHIT
+r85Y 582 FFESY 582 doys Iousbiaug T TSNIT
TTZE0K + TELvd5IX T1Z-50K = TBLvd-50K Uid + e g T TSNTT
TZTEV-SdX 1TT50%-5d% Aepi dais AusBieug T it
QEOFZSdYaTAY 0E0FTS4UETEY WE AFZ/00% Mddns Eweg T TAOT
S0L8TAD 90Ld 719 V51T SESIq Um0 SSlogsURi| T 1201

XEW S10H TLALY ADET,E XEW STOH T2ALY R ] T ot
£0dVEAD £0dVEAD T13L S[pL=Y 340/NQ I + Y T 1001

959 EAD 959€A9 TL N Bueds 2627 T 1001

S9d €49 S34-EA9 TBEL d y5g 1ayeaig Y2 ooy T oot

753X STSESH 18Y £5d1 46 P05 Loy 330 ¥EY T THOT

STSESD 575659 187 £5d1 4§ 397295 33ANC |[£4A 1404330 VES T 0T

#00 T¥X +00 9 S40RNG /%4 3T04/SE0LTYY 2/rE0p3 T a0

MWW ST9'0S AW3/K 57905 W3 pEeid-= PN §°T,5TW PURE 39PD T 2¢
10d/w STT0S 10d]W 57205 D3 PRG-I §°,5TW INwpeT T od
WdSTHOZH 5'7,9TH=-02H vd Loaanp=y 5'T,5TI < 02k YoEanpay T 2d
SE0LY $120S ST HFOHTELIYM 5°1,51H el T ad
SE0LY 31905 57,9TH vd TALHYM 5'7,97W PUFI 337D 3 24
SE0LY 02205 0T HB0H ALV 57,0 3n00] T od
SE0LV 02508 57,00H vd TALHYM 5'7,020 PURIS 33P0 T 2d

W O0ZT'0S 02 MFOHTELIYM PSRN 57T, 02 3] T 2

T 02908 S T,02H-1 T3LHVM paeid-= N 5T, 00W PUPIE 395D T 24
10d/W TETOS D3 PRRFIC-EIN §°T, TEW INwpeT T od
AW3JW TES'0E AW3/1 ZES'0S I3 praeid-EEIN 5T, ZEW PUPD 39ED T 2d
67002 TE0MNNI - T00F8 6Z00Z160MNNS - Z00¥E 055%0SE ==/¢ Bununow v QOEX00SX00Y =ns9ps3 T av

Jaquinu ved

Jequinu adAL

ueneubisap

fanuenty

Bey aomap

35I| SHed

41/55



S Diamatic

[
>

The choice of professional

E06867/UL480 / 3x 480V / 15kW / frequency drive

1B3A -
J2quWnu ALY -

Jaquinu Uojs|ARY - |_

H# #u#s ##(d
38NN ONIMYHEd

Jequinu Bujuuny - |_

IT11
3d02 340D

abed ajnpayds -
1ap3| [oquAs -

Jequnu Bujuuny - J

IT411
3d0D TOdWAS

2UYM - (DAAFZ) punols [/ snuil
SUYM - a4m dn-»ooH

UM - (>anve) snid

abe3joA (043u0D

U219/MOJ|2A - 3d / yde3
ARl - €1
Jyoelg - 1
Joe|g - 1
SI0[0D ES]

2208+ 26e3|OA ulely

DMV BUIM IV (070D THIM

42/55



S Diamatic

[
>

The choice of professional

mapuyysh

BuumiEs 15w WapSl

wapBl

pussaam a1mga8a

dafy 2puaipaq SR

ipeEyeyssUByEASqs0IOL

Syodh£ Rwan=ERe| R

Syod-7 wRwamn=ERe| R

Brod-1 1RwWaNEaRe|RIEY

IEREEYIEecy

JiEqdep, JEpiags

JEpRyE 2EgEEys

pEybyEELs

J8130eY

35N YUM [BUILLIBL

|euiLaL

PEIUOD SGRAOL LM 10]51S5Y

aMeA

LUSILEUISL YIJMS LRIM
UIUMS PROJISAD J010W
Jenjealq UN2JID Jamod

3]0d-88.y) “ISyESIT JNID

ajod-omy “Jaxealq INID

ajod-a|buis “ayeaiqg IndID

LoMS UiEl

3]0d-a2L1 “PaUU0ISIP pasnd

ajod-a2uy1 ‘Youms pasnd

asny Aajes

- o0

JOPULIDISUELEC.AS

S0DPIIEIUCOPUEM

BujuEnzn
pLEIEIZaM

BuagpEa 1L

5nd jpods
BuiSeaianEye

Fw

Sulfie nEawoydo

3o frods

sods

JEETEIC

J3|jEuRIn

=pwasdwe

waoy

dwegesubic

JAULIOJSURL] JUBLIND

=05

buneay [ ioisisay

61 egnL

‘o2 asind Aejal

1100 asind JoloejueD

Agjap jno-dolp uym
‘l02 ApjaijioieIuoD

Aeap dn-yoid yym
3 ABj3l/1010EIUOD

o2 Aejas
|l03 J0)13EUOT

Jslosueny

JAINO3
anoybuuung

Jappwrwde

wioy

b jeubis

ree e assBusEpEy

sEEERSpUR

JERE PSP

aemsaubiy
esssowstp

axeBun seqieRsp
B doispoou

JeEERyEIERp

epEepsEep dn

pusnlg
dourynip

pusmiBnin
dounp

pusyms phiremiss
EeIERIIE

uada phieeizn
PEOIEII

pusyns pheenias
‘PejunyeRw

uado phieenisn
“peluoryeR

ejucsuabounan

BEUEIgNY

Yaums Ajwxod

Yapms aunssalg

Yo1MS IEISOULIBYL

sojun Alejol
dogs Asusbiawg

Buppo]
youms Atejoy

punoga.
oums Alejoy

Bupo|
uopoqysnd

punogal
uojoqysngd

Aejap awn yym sasop
“TIEILOD DN

Aeep |wn \gm suado
“13E1000 DN

Aej@p awd ym sas02
“1PEIIOD ON

Aejap awn yum suado
‘Peiod oN

e JBMod

PEOD AlBljIXnE

@.m :..;.qc
—af ,f%..ﬂ
.N_...H , -1
- Txr._

J

43/55



S Diamatic

S
>

The choice of professional

Tnot

100T

IS 2

nTt

TAOT

a1e|d Bununoyy

UOIINDEY/OTh < =02k

+vafotu
e
vdfatn 2521
et | @
ZSNTT
_M_ wms szt | O

TSNTT

vd/0TW

23

SSRI/TEN [ ]
5 [ oo |
4 VED
wiids | oo
4d 950
3 3
sseigzen wioy33
— 1001
-l
Tennjy
Ae|dsiq

Ss2IG/0TIW Ll

44/55



S Diamatic

The choice of professionals

HOLIMS
NYIWav3a

sa|nla) S

=E——

/ DN PUWITXE

JLOW3Y

SA|N.LS UM

em———-r=

59 |

0Lg

J—

13INIEVD

wiwgos = 3ybua ezl

\ \ ad]-Ingd zWWG, Ox9T

310W3d

SSINLAY AU

00Z

05/ T

00z

(Mo]j2A/usaiD) = 34
pue|B 8|ge2 D3 au3 Ul
PEIIALILCS A 0} 51 PUB ‘PIBILIS =
Sl Bey w_mmu al3
M = (Reio) £
I = Opeg) ¢
n = (umedg) T
ol Bey a)ge a3
tpuaba

wwpsTT = WBus] 3oL

(wiwoat 38 Bumng Ajuo) pEius 12e10ud o1

3PIS UONISULCD JOJOW U0 UOIENSUI SABS| AdaAjap 1od

13NIgVD

3d pUE € ‘T ‘T "OU o

/ /
\ \ [-ADTSAZ sWWQTXE
7/

34 pue £ 'z 1 "ou

Be1 3|qed uo deam-yuuys

(mojjafus=in) 34
M = (Aaug) €
A = Opejg

1N = (umoig) T
Sin Bey ajqes afg
:puaba

Beg a1qes uo deam-juuys
0sT

056

WWOOZT = Buay| |g30L

45/55



S Diamatic

[
>

The choice of professional

IPAFT

abeyon jonuod

01T
2aAD

01T
JAAFE

T

0

VSZ=ul
ZHO9 JEADEBXE
MST J0I0W

01
O
Q.

1LY
]

ADgPRE
WS
TIr
not

ZH09 JBADBHXE
wuoy-333 Addns

E TR T & [ ves
T T R N T
A

ECy L 2, B ds /ve9

TX0T

so sz

Wi k]

8
3

E1
<I|=<I]=I
s

s

Y

Y05 LE

J
4
-FHo0t

46/55



S Diamatic

[
>

The choice of professiona

J0AD [ toT

0zt / JAAD- T mETT
I s
s £ z 4} 7y 4 TZESIV-Sax
=] =] 3 =] Q [+ 1T
99 IX # o IX
F1 g w Fad dos-1g
X--3TSTT f——@f--r=b TSNTT
€1 k54 1 W
s TX doas-W3
¥ z pIoD 35
YO L-OTsNTT
£ T
0T1 / EMdALY-- )
1
071 + ALY e J‘ BT
1
021/ JONFT yiis e WINPT /ror
I !

47/55



uey

[
>

The choice of professiona

S Diamatic

Buioony
i) i wD0AD ] ETT
1 i
z
PAT
TWET
T
ALY
Iy
3¢ Mz e UV WOD mo|Tor
9 7 ? ? ¥ |wnot
ﬁrw aw X X
i
= 0T Wy
je-ras I/..«rw TSET
2l
THZT #pisyoeg X
W UMAALY e
zifex O ar/x -
ALY
TL/eEX T AW /&TT
P = »IANGE [ 6'TT
i il

48/55




The choice of professionals

S Diamatic

£71 o+ ot ' z o T8I

£71 +TIY ot ' 3] X THZE

Tl -1y ot ' ot > THTE

71 n ot ' [ [

71 m ot ' 3 +1 1528

vTl B nit ' ‘ 3] [

T i it ' 3 +1 1STE

[ [ it ' 5 [ 1STE

H o nit ' ¥ @ TSNIE

T Ti3diA0 TIZTTAOT ' £ £ TSNTE

T ™ it ' z 3] 1SNTE

33 TAT THZETAOT ' T T TSNTE

uwnjos / abeg uoneubissp 18bie uoneubisap 1abiel PE] uonauny

818 5 | = |8 2
= | 5E & £ |BE F
2|28 E | £ |28 2
8|13 - =18 8
2 IPAPT SleUILIRL @
B g
2 X 2
8 8

duis

wedlbelp [euiwia ]

49/55



S Diamatic

The choice of professionals

SE0LVd 07908

<0TW ¥d T3LHVM

5'7,0TW PUPID 31972

[ T0EZ1 94 pinE =Buy uey B TWET
N PTFE J0APT BE, 6T 1,611 Nrd 3PAFL UPS T TWZT
T16av SEZ 7180y 582 =ELag T THIT
PEZ W0T WsERWL0g FEZ HOT 3=5IMEUL0d DT 2oC-wiL T THET
T N3E 11T a2 TX ON WELEE T 1521
TN TZrr Naz TYK DN LR [ 1521
70v 82 0v s8Z =pURy s T 1521
T NE2 I NEz TeX ON ueLER [ I5T1
LETO'TO'ED EEVY 582 LLHVLS, NITYD Uomngysng T 15T
T N3E 211 N3z X N UELER 4 TSNTT
a5V SBZ FbE5Y 582 dois Ausbiaisg [ TSNTT
TIZ-50 + 259d-50X TTZ-50K = T64¥6-50K Uid + DUvE B3Eg T ZSNTT
12150¥-5dX TZI50%-5d% JeEl dois ioishiang T it
OEDFISAETIAY E0FZSEHTTEY WE SPAYEO=ADDS 00T~ JPADTT 00T A3dn5 =wag T TATT
3005700 908 TAD e e R e T 1401
P STQH TZALY MPST 13{2aues Jousnbeid T ot
£0dvEAD E0dVEAD STEL SpU=d 30/N0 2E]q + =ty T To0T
930 €49 999-EAD T13L N Buzecs iz T 201
05d £A9 054-EA9 TBL dg wOg 185720 Y0P Jeel T 1001
SS5ESH SS5E54 18Y L5901 54 1755 W04 330 VEI T Zx0t
SS5E5D c£55£59 18Y 241 Uz 19005 33[N0 |[E4 W05 330 ¥EY T THOT
00 T 700 9 SU0NG b %) 3T0/SE0LTVY Srsepia T ()
10d/W STZ0E 10/ 52205 W3 PEPIE-2HIN 5T, 52K NUHI0T T 5
AME]W ST3'0E AW3JH 57505 W3 paed- PN £, 57 PUPID 21320 T 5
VASTHOTH T,91W=-07H ¥d LOmnp=d 5'T,5TW < 02k Uomanpay T Bd
SE0LVd STZ0S 9T HIOWTELHYM R ] T o4
SE0LVd F19°08 T.97W vd TELEYM 57, 3TW PUFID 31950 T B
SE0LVd 02205 0ZW H30KTELHYM 51,00 NP0 T B
[
W 02208 02 H30LTELHVI 51,071 30007 T
TW 073108 5'T,00W1 TALHYM N 5'T, 071 PUE]D 3(9°D) T 5d
[ 10dH ZEZ'05 T 5d
TE908 AM3JH ZE5'DS T 5d
Z00ZEG0ANI - Z0OFE GZ00TTE0NNNS - 20078 B )

Jaquinu ved

Jequinu adA L

uoneubisap

fnuendy

Bey aa1map

35I| SHed

50/55



S Diamatic

The choice of professionals

4. Fault diagnose frequency drive

For a complete overview of faults and how to resolve them, check the operating manual
of the frequency drive or the CD, which are delivered with the machine.

If you put the CD in the computer, it will automatically go to the manuals.

Does the inverter shows an “INF” fault, reset the machine.
If the machine does not work after that, call you distributor.

To reset the machine, put out the power supply and wait 5 minutes.
Then start up the machine again. Call a technician if the machine still not works.

I Fault Mame Probable cause Remedy
A I2F |[Al2 input] = Mon-conforming signal on analog = Chack the wiring of analog input A12 and the value of the
input AlZ signal
AnaF [Load slipping] » The encoder speed feedback does = Check the motor, gain and stability parameters
not mateh the refersnce = Add a braking resistor
» Check the size of the moterfdrivelload
= Check the encoder’'s mechanical coupling and its wiring
LOF [DER owverload] = The braking resistor is under = Check the size of the resistor and wait for it to cool down
excessive stress » Check the [DB Resistor Power] (brP ) and [DE Resistor valus]
(brl} parameters, page 271
b~ F |[Brake feedhback] = The brake feedback contact does = Check the feadback circuit and the brake logic contral circud]
not match the brake logic control = Check the mechanical state of the brake
L U F  |[DB wunit sh. Circuit] |= Shor-cireuit output from braking unit = Check the wiring of the braking unit and the resistor
= Check the braking resistior
L~ F { |[Prechargs] = Lead relay control fault or charging = Switch the drive off and then back on again
resistor damaged = Check the internal connections
- F 2 |[Thyr soft charge] [+ DG bus charging fault (thyristors) * Inspectrepair the drive
ECF |[Encodercoupling] |- Break in encoder's mechanical coupling |- Check the encoder's mechanical coupling
EEF { |[Conirol Eeprom] » Intermal memary fault, control card = Check the environment (electromagnetic compatibility)
= Turn off, reset, return to factory settings
EEF & |[Power Eeprom] = Intermal memaory fault, power card * Inspectirepair the drive
EnF [|[Encoder] » Encoder feedback fault = Check [Mumber of pulses] (F 1) and [Encoder type] (EnZ),
page Lo
= Check that the enceder's mechanical and electrical
aperation, its power supply and connections are all correct
= If necessary, reverse the direction of rotation of the motor
{[Cutput Ph rotation] (PHr) parameter, page 25) or the
ancoder signals
ECE ¢ |[Cut contact. stuck] |= The output contacior remains closed |- Check the contactar and its wiring
although the cpening conditions have |= Check the feedback circuit
been met

51/55




S Diamatic

The choice of professionals

Fault Name Probahble cause Remedy
HdF [IGBT = Short-circuit er grounding at the drive | = Chack the cables connecting the drive o the motor,
desaturation] output and the insulation of the motor
= Perform the diagnostic tests via the
[1.10 DIAGNOSTICS] menu
ILF [internal com. link] |+ Semmunication fault between option |- Check the environment (electromagnetic compatibility)
card and drive = Check the connections
= Check that no more than 2 option cards (max. permitied)
have been installed on the drive
» Replace the option card
= Inspect/repair the drive
IaF | |[Rating error] = The powser card is different from the  |» Check the reference of the power card
card stored
In F 2 [[Incompatible PB] = The power card is incompatible with the = Check the reference of the power card and its compatibility
conirel card
I~ F 3 |[Internal senal link] [« Communication fault between the » Check the internal connections
internal cards » Inspectrepair the drive
iaE Y |[Internal MFG area] |- Internal data inconsistent » Recalibrate the drive (performed by Schneider Electric
Product Support)
I nF 5 |[Internal-option] = The option installed in the drive is not » Check the reference and compatikility of the option
recognized
!aF 7 | [Internal-hard init] |« Intialzation of the drive is incomplete = Turn off and resst
' a F 8 [[Internal-ctr supply] [+ The control powsr supply is incomect = Check the control power supply
I~ E 9 |[Internal- | measure] [« The current measurements are incomrect [+ Replace the current sensors or the power card
= Inspectirepair the drive
!aF A |[Intermal-mains = The input stage is not operating = Perform the diagnostic tests via the
circuit] carrectly [1.10 DIAGHNOSTICE] menu
= Inspectirepair the drive
!aF L | [Internal- th. = The drive temperature sensoris not |- Replace the temperature sensor
sensor] operating correctly = Inspactrepair the drive
InFC |[internal-time = Fault on the electronic ime = Inspect/repair the drive
meas.] measurement component
{naFE |[internal- CPU | = Intermal microprocessor fault » Turn off and reset. Inspectirepair the drive
oCF [Owercurrent] = Parameters in the [SETTINGS] (5Et-) |» Check the parameaters
and [1.4 MOTOR CONTROL] (drC- » Check the size of the motorfdrivelload
menus are not correct » Check the state of the mechanism
= Inertia or load too high
= Mechanical locking
P~ F |[Fowerremoval] = Fault with the drive's "Power removal « Inspectirepair the drive
safety function
g g ¢ |[Molorshort circuit] (- Shori-circuit or grounding at the » Check the cables connecting the drive to the maotor,
— T drive output and the insulation of the motor
SLF ¢ |[mpedant sh. circui] + Perform the diagnostic tests via the
[ F 3 |[Ground shor circui] [1.10 D|F‘\.Gr'\o-\'._'_lT|.:E]:I'I'IE"IU
+ Significant earth leakage current * Reduce the switching fraquency
at the drive output if several motors = Connect chokes in series with the motor
are connecied in parallel
soF |[Cverspeed] = Instability or driving load too high = Check the motwor, gain and stability parameters
= Add a braking resistor
= Check the size of the motor’drivelload
5P E |[Speed fdback loss] |« Encoder feedback signal missing = Check the wiring between the encodear and the drive
= Check the encoder
L aF |[Auto-tuning ] = Special motor or motor whose power » Check that the motoridrive are compatible
is not suitable for the drive
= Motor not connected to the drive = Check that the motor is present during aute-uning
= If am cutput contactar is being used, close it during
auto-tuning

52/55




S Diamatic

The choice of professionals

I Fault Name Probable cause Remedy
RFF [Applhcation fault] = Controller Inside card faul = Please refer to the card documentation
LLF [Brake control] = Brake release current not reached = Check the drive/motor connection
= Check the mower windings
= Check the [Braks release | FW] (120 and
[Brake release | Rev] (Ird) settings, page 142,
+ Brake engage frequency threshald = Apply the recommendsad setlings for
[Brake engage freq] (BEn) only [Brake engage freq] (bEn]
regulated when brake logic control
is assigned
CnF [Com. network] = Communication fault on = Check the environment (electromagnatic compatibility)
communication card = Check the wiring
= Check the time-out
= Replace the option card
» Inspectrepair the drive
caOF [CAM com.] = Interruption in communication on the  [= Check the communication bus
CAMaopen bus = Check the time-out
» Refer o the CAMopen user's manual
EFF | |[External fl:-LI/Si] [- Faulttriggersd by an external device, |- Check the device, which caused the fault, and reset
depending on user
EPE 2 |[Externa = Fault triggered by a communication |~ Check for the cause of the fault and resat
fault com.] netwaork
FCF2 |[Out = The output contacicr remains open = Check the contactor and its wiring
- onditio » chk C i i
contact open.] although the closing conditions have Check the feedback circuit
been met
LCF [input contactor] = The drive is not furned on even though | Check the contactor and its wiring
[Mains V. time out ] (LCL) has elapsed |- Check the time-out
» Check the line/contactor/drive connection
LFFZ2 |[A124-20mA loss] |- Lossofthe 4-20 mA reference on = Check the connaction on the analog inputs
L FF 3 |[&134-20mA loss] analog input Al2Z, AI3 or Al4
LFFMY [[Al44-20mA loss]
g&E [Owverbraking] = Braking too sudden or driving load = |ncrease the deceleration time
= |Install a3 braking resistor if necessary
= Activate the [Dec ramp adapt.] (bra) function, page 127,
f it is compatible with the application
OHF |[Drive overheat] = Drive temperature too high = Check the motor load, the drive vendilation and the ambient
temperature. Wait for the drive to cool down before restarting
gL F [Moter overload] = Triggered by excessive motor current |+ Check the setting of the moter thermal protection, check the
) moter load. Wait for the drive te cool down before restaring
OPF ! |[1output = Loss of one phase at drive output = Check the connactions from the drive to the motor
ohase loss]

53/55




S Diamatic

The choice of professionals

Fault Hame Probable cause Remedy
OFF £ |[3output phase loss] | = Motor not connected or maotor » Check the connections from the drive to the motor
power too low = If an output contactor is being used, parameterize
» Qutput cont@cior open [Duiput Phase Loss] (OFL) = [Duput cut] (DAC), page 201
+ Instantansous instability = Teston a low power motor or without a meotor: In factory
in the motor current settings mode, motor phase loss detection is active
[Duiput Phase Loss) (OFPL) =[Yes] (YEEZ). Tacheck the drive
n a &5t or maintenance envircnment, without having to use
a motor with the same rating as the drive (in particular for
high power drives), deactivate motor phase loss detection
[Cutput Phase Loss] (2PL) = [Me] (nC
= Check and optimize the following parameters: [IR
compensation] (UFr), page Z0, [Rated motor wolt.] (LUnSE
and [Rated maot. current] (nCr), page S5, and perform
[Auto tuning] (tUn), page 25
OsF Mains overvoliage] |- Mains voltage oo high = Check the mains voltage
» Disturbed mains supply
OEF i |[PTC1 averheat] = Overheating of the PTCA probas [« Check the metor load and motor size
detected = Check the motor ventilation
Ot F 2 |[PTCZ averheat] - Owverheating of the PTC2 probes |7 Wait for the maotor to cool before restarting
. datected = Check the iype and state of the FTC probes
OEFL |[LIE=PTC overheat] |- Owverheating of FTC probes
) ) detected on input L18
FEF I |[PTC1 probe] = PTC1 probes open or short- » Check the PTC probes and the wiring between them and the
circuited maotoridrive
FEFZ |[PTC2 probe] = PTC2 probes open or short-
circuited
PEFL |[LIB=PTC probe] = PTC probes oninput LIS open or
i ) short-circuited
SCF4 |[IGBT short circuit] | Power component fault = Perform a diagnostic test via the [1.10 DIAGNOSTICE] menu
: = Inspectirepair the drive
5CF S |iMoter short circuit) |» Sheort-circuit at drive output = Check the cables connecting the drive to the motor, and the
) ) mator's insulation
= Perform diagnestic tests via the [1.10 DIAGMOSTICS] menu
= Inspectirepair the drive
5LF | |[Modbus com.] = Interruption in communication en  |= Check the communication bus
the Modbus bus = Zheck the time-out
= Refer ta the Modbus user's manua
5L F 2 | IPowerSuite com.] = Fault communicating with = Check the PowsrZuite connacting cable
) ) PowerSuite » Zheck the time-gut
SLF 3 [[HMI com.] » Fault communicating with the » Check the terminal connection
graphic display terminal » Check the time-out
5~ F [Terque time-out] = The time-gut of the torque contral |+ Chack the function's settings
function is attained » Check the state of the mechanism
ESE [Torguelcurrent im] | Switch to torque limitation = Chack if thare are any mechanical problems
: = Chack the parameters of [TORQUE LIMITATION]
(tLA-) page 177 and the parameters of fauk
[TORQUE OR | LIM. DETECT ] (tid-), page 270}
L JE NSET owerheat] = Drive cwerheated = Chack the size of the load/motor/drive
: ) » Reducs the switching frequency
= Wait for the moter 1o cool before restarting

54/55




S Diamatic

The choice of professionals

I Fault

MName

Probable cause

Remedy

EFF

[Incarrect config.]

Cption card changed or removed

Control card replaced by a control
card configurad on a drive with a
different rating

The current configuration is
inconsistant

Check that there are no card errors
n the event of the option card being changed/remaved
delizerately, ses the remarks below

Chack thatthers ars no card emors
= In the event of the control card being changed delibarately,
see the remarks below

Return to factory settings or retrieve the backup
configuration, if it is valid (see page 2220

[Inwvalid cenfig.]

Imwalid configuration

The configuration loaded in the drive
wia the bus or communication network
is inconsistant

= Check the configuration loaded previcusly
= Load a compatible configuration

[Cards pairing]

= The [CARDS PAIRING] (PPI-)
function, page 212, has been
canfigured and a drive card has
been changed

» In the event of a card error, reinsert the original card
» Confirm the configuration by entering the [Fairing password]
(FEI} f the card was changed deliberately

[Input phase loss]

= Drive incorrectly supplied or a fuse
blown

Failure of one phase

3-phase ATVT1 used on a single-
phase line supply

= Unbalancad load

This protection only operates with the
drive on load

Check the power connection and the fuses

Use a 3-phase mains supply

Dizable the fault by [Input phass loss) (1PL) = [Mo] (nC
(page 202)

USF

[Undervaltage]

= Line supply oo low
= Transient voliage dip
= Damaged pre-charge resistor

Check the voltage and the parameters of
[UNDERVOLTAGE MGT] (USb-), page 208
Replace the pre-charge resistor
Inspectrepair the drive

55/55




